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21 25 &FERSSE
Pk 2 pE BEY R xR *ATH] TF &
# P Q1 | Q2| Q3 Q4 Q1 Q2 Q3 Q4 Q1 Q2 Q3 Q4 2
502(ppm) B+ pFT 5@ | 0.006 (0.006| 0.004 | 0.008 | 0.006 | 0.007 | 0.006 | 0.005 | 0.005 | 0.005 | 0.006 | 0.005 | 0.25
pIisiE 0.003 |0.004| 0.003 | 0.003 | 0.003 | 0.004 | 0.005 | 0.002 | 0.002 | 0.003 | 0.005 | 0.002 0.1
NO(ppm) B+ pFT 5@ | 0.006 [0.006] 0.027 | 0.008 | 0.005 | 0.004 | 0.006 | 0.007 | 0.006 | 0.007 | 0.004 | 0.018 —
pTia 0.003 |0.004| 0.004 | 0.002 | 0.001 | 0.004 | 0.001 | 0.003 | 0.004 | 0.004 | 0.001 | 0.003 —
NO2(pom) B+ pFT 5@ | 0.016 (0.017| 0.013 | 0.013 | 0.007 | 0.015 | 0.007 | 0.016 | 0.01 | 0.009 | 0.004 | 0.015 | 0.25
pLiai 0.008 |0.012| 0.002 | 0.008 | 0.002 | 0.006 | 0.002 | 0.008 | 0.003 | 0.006 | 0.001 | 0.007 —
NO4(oprT) B/ @I E | 0.018 |0.022] 0.036 | 0.021 | 0.011 | 0.018 | 0.012 | 0.022 | 0.013 | 0.015 | 0.006 | 0.023 —
pIiai 0.011 |0.015| 0.006 | 0.011 | 0.003 | 0.01 | 0.003 | 0.010 | 0.007 | 0.011 | 0.002 | 0.010 —
CO(ppm) Bt LT OE 08 | 06 | 04 0.4 0.9 1.1 0.5 0.8 0.9 1.1 0.4 0.8 35
B+ 8 pFTimiE | 08 | 05| 0.2 0.3 0.8 1.1 0.4 0.5 0.7 0.9 0.4 0.4 9
TSP(ug/m3) 24 | pFiE 99 | 160 | 38 91 102 48 54 99 80 57 38 94 250
PMio(pg/m®) pIiaE 72 | 49 13 55 81 26 25 70 48 22 17 77 125
R (°C) pIiaE 19.3 [ 29.3| 8 230 | 172 | 268 | 298 | 241 | 176 28 30.8 | 237 —
Ap R R (%) pLiaE 788 |89.7| 76.9 | 69.3 | 67.4 | 727 | 73.8 | 69.7 | 724 89 69.4 | 66.4 —
R i# (M/s) p T 36 | 08| 09 2.6 0.1 0.6 0.3 0.1 3.1 0.3 0.4 2.1 —
b BAE b I L P S L § i G OB G PO PO B P e O P A —

EEREHRY P FARI01ES Y 4 p YD

-~
_:”.

= B

4

s}r

A
010038913 54 2 & -




0.3
0.25
0.2
0.15

JE B (ppm)

0.1
0.05

0.1
S 0.08
£ 0.06
gisd
0,04

0.02

Q1 mQ2 0Q3 mQ4

7 - 2:0.25 ppm

Py
Sy
I{ﬂ

Bl2 ZplzbzF PF (SO2) Bt [ HITHEE RIS %

SO,p Ti=E
mQl Q2 0Q3 mQ4

% § & #3£:0.1 ppm

. FFE e e B [ = e T P =
LR 1R AR

B3 Lplsb- % % (SO2) P T3EERZE%

mQl mQ2 0Q3 mQ4

% F & H-5:0.25 ppm

BT 1)

Bl4 L= F 0% (NO2) b | BFIHEET RIES



N
o

w
o

20

JE B (ppm)

10

10

& & (ppm)

300
250
S 200
£ 150
gsd
& 100
50

COf ~ /| FFIiaE
mQl mQ2 0Q3 mQ4

Z # & 5 15235 ppm

BEY o3 W E R 3T )

BI5 2Rlx-F i (CO) B+ | HFIOET RS

COE ~ 8| L aiE
mQl mQ2 0Q3 mQ4

T 4 & F AR89 ppm

mm.-'—'—.rrn m
BEP O F S Pl

]

Bl6 Zplxt-3Fitp (CO) B+ 8 | FIHELT PSS

TSP24- | pF i&
mQLl Q2 0Q3 mQ4

% F 4R 2 :250ug/m?

@m% @%% @m%

REP R 1R * 2TH )

B 7 EplEBR Aok (TSP) 24 | pFiEE PlES



PM,,p T 515

Q1 mQ2 Q3 mQ4

120 FF & F 1R :125pg/m3
125
€ 100
= N
w N % 7
= N BN :
= NH B N\ o
0 F7A b= et oA B
SN w3 R * 3R
B8 &iplsbRifuck (PMuo) P T39E L RS %
— > Fl -‘E] ;[L}E‘%é"

sLy (PRBEFE ) Le (FHNFE ) Le (RFHRFE ) TRl

)
B4 90 Tl REL 2 2 B 10~14 -

2] 17

o R R
— HEE

B9 hirdhvkd iRd T opls BLH



LplxbrRE F E EREE A
15t T S LB R

E%F’E& L—"r LH LE& sz Leq Lmax L—"r LH LE& LT& Leq Lmax

106Q1 — | 5551489429 532836 | — | 69.0|64.2|59.7|66.9 | 985

106Q2 — 1 63.9|555|48.0 615|883 | — | 688 |64.1|605|66.8|94.6

106Q3 — | 63.7 527 |46.6 | 61.1 | 916 | — | 679|634 |59.1|659|88.7

106Q4 — 160.3|1559|539|585|853| — |70.3|63.1|60.468.1|103.7

+ R — | 76 75 72 — — — | 76 75 72 — —
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PR Lv10 Lv10 Lveq L vmax Lvio Lvio L veq Lvmax
106Q1 34.7 30.1 334 | 494 | 423 | 358 | 406 63.5
106Q2 34.3 31.3 33.3 93.1 433 | 355 | 415 64.5
106Q3 34.0 31.1 33.0 69.0 419 | 341 | 401 63.5
106Q4 39.6 32.2 58.5 85.3 434 | 350 | 415 65.1
Sz Lt 70 65 — — 70 65 — —
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34 REBORFTRSE A

Bl B Zp['kE| pH |BR| SS |BODs| DO | & | £ F | F [FApa® | BB |80 7y
TP °C — |PSU|mg/L|{ mg/L img/L{NTU|mg/L{mg/L| mg/L |mg/L| mg/L

| Q1227 79 |34]102|<20 | 7.1 |26 |0.070.44| 0.04 |0.044| <05

N % 021285 8 | 33|96 | <2051 | 42 |0.06|0.49]| 0.047 |0.061] <05
’J‘f Q3 (32.2] 7.9 [29.9/18.1| <20 6.1 |82 |0.19|0.79| 0.08 [0.093 <0.5
Q4 |26.1| 7.8 |322| 7.1 |<20| 6.6 |45 [0.09| 0.6 | 0.051 {0.058 <0.5

| Q1227] 8 | 34|96 <20 7434005049 0.034 |0.044| <0.5

" "0 [281] 8 |335| 6.2 | <2052 | 1.1 007|042 0.016 |0.023] <0.5
*f Q3 (31.9| 8 [31.6(14.1|<20] 6.1 |75 |0.17|0.45]| 0.081 {0.085 <0.5
Q4 |259| 8 [33.4|61 |<20|66|48|02|065 ND | ND| <05

| Q1|226| 81 |339]76 |<20|7.7|25|004 0510025 |0.041 <0.5
"‘fﬁ‘ Q2 |27.6| 81 |33.6| 6.3 |<20| 54 |26 |0.07|0.44| 0.008 [0.024] <0.5
o ’J‘f Q3 |31.8| 8 [31.8] 26 <20 6.1 | 1.6 |0.14|0.38| 0.048 {0.096] <0.5
T Q4 |257| 8 |335|56 <2066 43|02 |067| 005 |[0.062] <05
4 Ql [22.4] 81 | 34|78 |<20| 77|25 |005]|047| 0.028 [0.047| <0.5
# "f B oo (274] 81 |341] 54 | <20 57 | 1.8 | 0.06|0.36 | 0.009 |0.023| <05
k f Q3 (319 81 |31.6|92|<20| 6 |57 |0.09]|0.69| 0.052 [0.073] <0.5
Q4 |255| 8 |33.4| 8 |<20 65 | 6.7 |0.17|0.63| 0.053 {0.062| <0.5

s | QL [226| 81 |34 |72 |<20| 8 |26 |0.05]049 0031 [0.046] <05
kg | Q2] 28| 82 [339] 6 <2056 |15 |0.06]035]0.017 |0.033| <05

5 | Q3[326| 81 |294|58 |<20/|68| 4 [019/053| 0.019 |0.038| <0.5

Q4 |256| 8.1 |33.6(89 |<20/| 65|59 |0.25/0.66| 0.057 [0.067| <0.5

| Q1221| 81 |339]86 |<20|7.9|25|004 0510027 |0.047| <0.5
"‘fﬁ‘ Q2 |28.1| 82 [339|6.4 |<20|53 |17 [0.06|041| 0.02 {0.036 <0.5
’J‘f Q3 (323 8 |286| 7.7 <20 6.6 |42 [0.26| 0.7 | 0.036 {0.042| <05
Q4 |26.2| 81 |335|57 |<20|66| 4 [0.34/065| 0.05 |0.067 <0.5

Ql| 23| 82 [337]98 |<20] 83|46 [0.04]0.39]| 0024|004 <05

g | Q2 (277 82 | 34|64 |<20| 6.1 |33]005|047]| 0.023 [0.041] <0.5

% 1|Q3[316| 79 |28.2(638|<20/| 63| 37 [025/071| 0.1 [0.111| <05
i Q4 262 81 [33.3/19.6|<2.0| 65 | 12 |0.45|0.68 | 0.053 {0.062| <0.5
?’ Q1 [22.7| 81 [33.7]89 |<20] 8245 [0.03|0.33]| 0021 [0.043 <05
: gw Q2] 28| 82 | 33| 9 | <2054 |33[012[052]( 0.028 |0.031| <0.5
% % 2| Q3319 78 [253[16.7|<2.0| 6.2 | 5.2 [0.36|0.78 | 0.163 {0.173| <0.5
2 Q4 |26.2| 81 [33.4| 12 | <2.0| 65 | 6.4 |0.14|0.67 | 0.043 {0.057| <0.5
% Q1 |235| 81 [33.9|86 |<20| 88|66 |0.05|0.37]| 0027 [0.045 <05
g | Q2 [295| 81 |33.3|228|<20/ 5.7 | 15 [0.09|0.45| 0.034 |0.036| <0.5
%3[Q3[324| 8 |276|98 |<20]| 6.2 |74 (028|059 0.099 [0.102| <0.5
Q4 |269| 81 |336| 6 |<20/| 65 | 3.9 [0.17|0.69| 0.055 [0.044| <0.5
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